N _&_ﬂﬁular Mf?mvenh;; J.Vt 3_'6{
Y 7T Kl p (nad)

A\ R H‘P"F component OF 7 - P
/:i' e ugé " é{)ﬂ»‘lf?f)ﬂm{” 0{\ P-_-,.

E@_._; . maﬁn{‘}'vél& 5 l(':;;)x ﬁ(
reminder o 2-d. or ‘};%k

=12 ?_j;
note. [P Wy\z-l' Lz

5 OM W cordl
L,]//\_/ "

abort Hne € axis
by an abwt
(1mportant to musler
This Yz.\ahriﬁnﬁ-\nfp)_

wte WROENGY = 5 g5 )
= Qgp)- QY 1 LT L 32y

Quanbm < d&.&{.,ribﬂf? mjrajr‘[gm

0 2 2 3z 205

= LP(S’) ¢ -oN)




0%

> coold have picked an

YFaTr of avis
n place of X,y

A A A .

¥ > ixj=bk 0 L TXg-YPe xe
%"‘3’4\)& ':H:k O = —_

HE> GBS0 Lasyp-zRy ye
%;*“*E""‘J 0 Lysz2p- xpa ze

20 E{:A),EA =LLa, L = m&iﬁifl;}

Loy, afe ~1R L2 a
o maqme foking the cross {Drvgiung ot

The Comfon@wf onit Vectors (3,4 a]aom)') hle
The

0/ Tf3h+ hand <ide 1% dhe cottesponding component
(-_'!;:g or "FL:} ,

ﬁ@wabw ot Deciribe Fotathon:

as Aiscussed earl.'anr) D;—..() Ejl": h %E‘{ﬂ‘: Ly

055 ?Fﬂduc\" (ﬂ\xf‘: —ﬁ7 and. he wmg?anf»n?'

——

1) abot 2z o PfeER)] = e‘%ﬂlﬁ
Dbt x ¢ U[RED]- eF

abot O [REGY)= RS
57 f»ecVue/nﬁal rotations -



109

e
QiR L e
* “’F\Br@r ol
i 0y e ant
amwn%oty Lz matters
Since L‘{:;/,_,l:g]ﬂ{}
# Uleet) ofe@d)] = coeke cmabsx
= il do a demo wit textbusl <
D'hqm
4) abut an M Atrechion @ (gﬁﬁ-ﬂ
5= 9}(14—67\34*6\& )0
91::[—_.- @x J"@Y 3 9_;_
AT
6'}3 = Bx x + %)f .}:7 +0O, L
by an amovn¥ 6 (# ]feﬁej‘zre;').
z ~Lob- L
T Ule(ed) - e |
book ei%w,a 18|
calls  ~
8]
97 an a:’ba‘h’arﬂl F&?La"’}w;
can be deseriled
This  way
(% hiams' eﬁd}’) m«l@)



1D

Eigenvalve  Problem .. Spherical Symmey

—_ 2

= £+ V(IR) Sofhen;

A no dependendence
mosek trgg X2 Non glor o

F}'m\inﬁ Ej‘_gemmlue/& oF t Boile Diwn
Yo ~
t) Since f_ﬁ) }:%1 = O choose

eigembels &k Ly
7) Since Eﬁ ) g‘} =)  and
L%‘“;k:ﬂ =0 e
eigambels of both LT and. L

x"‘r"’%

% %mﬁn% s ave 1o sdve the

‘z"‘-rl'

| . ; P \
\radial ' @ﬂyua}hrm Bﬂwh E‘:Jgrk }+~d£3_}

= F H} H}f

¥)



Ef@ﬁ{fﬂhﬂfﬁ mto coordinale Siﬂ([uf‘ One

and

f?
i q@ﬁ LT ) |9y = Elwy
— ﬁz | _a_‘ 2 o ‘_j__ __EZ _a _J_.. 5’2_
i/—UJ\F’@fr or fiémﬁ??ﬁgmer@é} resm™0 pxz i
alread
501:»-49 7

MHhtGlt o solve ae a
Afterenhal pahom . Use
a:gwﬂ <+ |DWLV}ﬂj ‘fechmc}uﬂ

5110{537 = K ]f’iﬁ Vs (oé umkhawn) |

advm}?\“

f%;%loz\ﬁ7j 5'2'7 lo(j%? (F ‘o AN Atf.q

noe : Y_L LJ_E leJl
g / ﬁ( D‘ ,]:.}1'*'["*'},-4 )

ﬁ}#&ﬂ [~ ‘?2 [{__LF_ e LL
Fs } 3
= 2 Euk(kr,’:w Ly L )
| = |
%P_ s 4 'htﬂ aﬁ«rﬁ

6!‘,{9]}1 IJ'J} )L (¢, ‘(H(T’d



